RETERY ftlHEHatwEE

S 25F HEEBHMRXII1=-57 /48 Nx3gEs (2)

B:$M 2% 48 1H
E:4f 3& 38318
148 A Bir:[m
b= B TTEEREE 2E£EEFEE = B A iR
ErEEsEy 728,000 742,000 14,000 | ft2smh & v N
MR A 2 2 0| #BURA
5t 728,002 742,002 14,000
2.%
=] B TEEREE | 2EETEE = #| A iR
. & & 159,000 159,000 0| F|-BENYE
A BB 13,250/ A
|
I - ) 48,147 30,002 -18,145| M1 L Sk
T 5B ¢ 4,895 13,000 8,105 | 2= FEEITHMA
Z B B | g B 100,760 50,000 -50,760 | /A fSHE
B T OB 105,000 250,000 145,000 | &8
| R 240,000 240,000 0| BEHE - BRHKE
20,000/ 8
e 70,200 0 -70,200 | ZEEF— - D=
= pore
0
0
5 728,002 742,002 14,000
FEOEBHREAODDWT

FTEATCHL), HAZLICLTIFEL FEZRHEREL T284%, BEEOHRICOL

T%Et:—{i_a_éu

13




